H £ 0l & AF & S

Al A

02435 =Z 1 3 LERH S8H ~ SA2S
FA ddgd
3 UxdE
el ety = (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
ggH 1,914,783 1,732,243 182,540
INPNEEEES 345,652 318,612 27,040
L P B 345,652 318,612 27,040
HAE2G 2 43,979 36,779 7,200
201 LetEaY| 35,479 28,279 7,200
R =23l 30,427 23,227 7,200
oIz 2,000,000 122 24,000 16,800 7,200
FUTAHE 2SI 62,000 61,600 400
406 XHoHR SHI 400 0 400
01 L =ZF S 400 0 400
o=z 74 01013 200,000 2CH 400 0 400
SAaAAL2E 2l 67,558 48,118 19,440
201 Let2aY| 61,218 46,778 14,440
01 At22teltl 17,256 16,616 640
o=z d2d=+J| &X
40,0002 +2CH+8 640 0 640
2 =23l 43,962 30,162 13,800
ozg=la2 MAsts 32,130 18,330 13,800
Orspli=i=, 2,200,000 122 26,400 13,200 13,200
OdotrERa3 130,000+ 122 1,560 960 600
405 XhakF S| 6,340 1,340 5,000
01 ML =S F S 6,340 1,340 5,000
O=X3z2 =81 5,000,000 5,000 0 5,000
NP 599,276 449,276 150,000
INE-PLL P\ 3= 599,276 449,276 150,000
2T 2FU=2AY 502,520 352,520 150,000
401 AlZHIL 2 0HY] 502,520 352,520 150,000
01 Al 500,000 350,000 150,000
OZ &t (250 A L&) 7 HHIBA
70,000,000 70,000 0 70,000
Ol E+2 JHISA
10,000,000& 10,000 0 10,000
Osd1el #H ZHISA 70,000,000 70,000 0 70,000
A 2IZHI(L4H) 969,855 964,355 5,500
=3 65,082 59,582 5,500
Jl23tl 65,082 59,582 5,500
406 XHaHs S| 5,500 0 5,500
01 L =S FH S 5,500 0 5,500
SeI 5,500,000 1CH 5,500 0 5,500




H £ 0l & AF & S

Al A

02435 =Z 1 3 LERH S8H ~ SA2S
A 0IEH
3 UxdE
el ety = (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
ol 3,303,129 2,943,339 359,790
NN 693,589 688,79 4,790
L P B 693,589 688,799 4,790
HAE2G 2 59,294 57,094 2,200
406 XHaHF St 2,200 0 2,200
01 AL =S H S 2,200 0 2,200
OXNSHENAISI(AD)
2,200,000 1CH 2,200 0 2,200
FUTAAE 2SI 80,610 79,180 1,430
406 XHoHH St 1,430 0 1,430
01 A= FHSHI 1,430 0 1,430
OMsSuna 04 1,430,0002 174 1,430 0 1,430
HOLRSIMIE Al2E2Z 2l 78,653 77,493 1,160
201 Ler2 3| 21,871 21,111 760
01 At 2teltl 6,340 5,580 760
oXoetdae| =42 95,0002 +8E 760 0 760
406 XHaHF S| 400 0 400
01 At =S FH S 400 0 400
OZ et 400,000 * 11 400 0 400
NP 1,347,188 992,188 355,000
KIS IHE AL 1,347,188 992,188 355,000
2 R2FU=AY 813,276 458,276 355,000
401 AlZHIL 2 CHY] 813,276 458,276 355,000
01 AlZHI 810,000 455,000 355,000
o722l £ FHISAHL=200m)
210,000,000& 210,000 40,000 170,000
OHale] OtAZ MR SA
90,000,000 90,000 0 90,000
Oudte] Or2ElY W2 FHIAIY AAld
AHESA 20,000,000 20,000 20,000
Ol 182-1 S2IHIBA 75,000,000 75,000 75,000
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02435 =Z 1 3 LERH S8H ~ SA2S
SM: JEH
A NXH
el ety = (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
HEH 2,220,154 2,001,198 218,9%6
INPNEEES! 413,001 382,135 30,956
L P B 413,001 382,135 30,956
HEEeF3HL 29 30,956 0 30,956
101 21=21b 17,825 0 17,825
M 1N 22 RS2+ 17,825 0 17,825
OItE 23t A4 2l 22Y 17,825 0 17,825
OQIAt| 86,920 12 +26 2«70 & 15,820 0 15,820
OZEFIHI 200,000 x1*12] 200 0 200
O4tEE J|2=2gs 1,805 0 1,805
-2 16,019,4402 %3 .545% 568 0 568
—REYLE 567,890 x12.95% 74 0 74
-=2d= 16,019,4402 *4.50% 721 0 721
-IEZE 16,019,4402%1.75% 281 0 281
-MHEE 16,019,4402+1.00% 161 0 161
201 Zer=2 Y| 13,131 0 13,131
01 Ak 2teltl 3,919 0 3,919
OMNRES 630,000 630 0 630
O=BeEE & HLES 700,000 700 0 700
Od=+J| eEg 40,0002 =2CH+7H & 560 0 560
0371380 dig=
34,9002 =2CH+7H & 489 0 489
OTI|tM 2| HE =2
110,0002*7J1 & 770 0 770
OFdHIEY =5
110,000 71 770 0 770
2 ss=234l 9,212 0 9,212
Crspli=i=; 1,100,000 <71 7,700 0 7,700
oot = 110,00024*7JH & 770 0 770
oste= 40,0002 742 280 0 280
OAS KXY (5%m) 462,0002 462 0 462
NP 735,701 547,701 188,000
RSN AL 735,701 547,701 188,000
22 FRU=AY 522,991 334,991 188,000
401 AlZ2HIZL SO 522,391 334,391 188,000
01 A€l 520,000 332,000 188,000
ozl L& =2 ZXISAt 0 0 20,000 220,000
O8HAI1el ¥ Bi+=2 EXISAt (0! 0 12,000 A12,000
OF &3l L SZTEYSA (=] 0 30,000 A30,000
OANSc| 22 SZ2ETISA o0& 0 30,000 30,000
OAls2el 2@ FAZHISAHL=100m)
80,000,000 80,000 0 80,000




M I
SRS HEDNI==p) =
St RIGHE AL (EEEE))
SA B SA(BH) - KISAY - BAS ofl & o o @S2
ougel L& 2HEHIBAHL=100m)
80,000,000& 80,000 80,000
OstHIZel L& 2HAHIS AHL=100m)
80,000,000 80,000 80,000
Oatgtel Ld TZAIHE IS AHL=30m)
40,000,000 40,000 40,000




H & 0l & AHS B Ml A

0243 =& 1 2 LetgH S48 ~ 222s

S s

SES MNP =

el NS AR (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
ead 2,167,333 2,109,553 57,780
NP 457,775 402,775 56,000
KIS IHE A 457,775 402,775 55,000
AR F0U=AY 359,775 304,775 55,000
401 AlZHIL S CHY] 359,175 304,175 55,000
01 AlZHI 357,000 302,000 55,000
Oul&el(124-1) Bi+=2 ZHISAHL=100m)
25,000,0002 25,000 0 25,000
O&3el(78-4) 0r2et2 FHIZAHL=20m)
20,000,000 20,000 0 20,000
o28el(434) Actd FHUISAHL=13m)
10,000, 0002 10,000 0 10,000
dF2LIHI(g2H) 1,174,845 1,172,065 2,780
=r=tall 81,518 78,738 2,780
Jl23tl 81,518 78,738 2,780
406 XHoHR St 2,780 2,780
01 A= FHSHI 2,780 2,780
OLES 1,500,000 1CH 1,500 0 1,500
OdtI|(9molst, HZ0I)
1,000,000 *1CH 1,000 0 1,000
OZXOoI(tHHE) 280,000 1CH 280 280
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FA 2oH
3 UxdE
ool ey =4 (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
29/ 2,318,495 2,084,239 234,256
NN 474,509 469,509 5,000
aery =X 474,509 469,509 5,000
SAANE=F A2 73,650 68,650 5,000
406 XHaHF St 5,000 0 5,000
01 AL =S H S 5,000 0 5,000
O=R2NHOIESH Y|
5,000,000 1CH 5,000 0 5,000
NP 686,200 462,444 223,756
INE-PLE P3= 686,200 462,444 223,7%6
L EF=2AY 501,009 281,009 220,000
401 AlZHIZL S CHY] 501,009 281,009 220,000
01 AlZHI 499,000 279,000 220,000
O==c| AH2-1081X] & T2 AH 2SSA
(20235 SZ WA 220,000,0002 220,000 0 220,000
2o/ 2zt TLAY 19,737 15,981 3,756
(O elal] 12,883 9,727 3,156
M IRINZZ2 RS2+ 12,883 9,727 3,156
0=z FA2el AUFY
78,880 x8H+5& 3,1%6 0 3,156
206 MHZHI 3,174 2,574 600
01 =4l 3,174 2,574 600
0F33 (33 24)
2,000 %3007 600 0 600
AY2HIHI(22H) 1,157,786 1,152,286 5,500
(=34l 73,878 68,378 5,500
Jlz3hl 73,878 68,378 5,500
405 KHakF S| 5,500 0 5,500
01 =S FH =8I 5,500 0 5,500
o=l 5,500,000 5,500 0 5,500
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g8 ~ BY2s

0

sus
HHSHAH|(ZAS)
=3t (St ®2)
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hwsz2
851,960 849,760 2,200
SHAH (EYS) 677,414 675,214 2,200
=3 56,562 54,362 2,200
1= Al 56,562 54,362 2,200
405 RtaHE S| 5,200 3,000 2,200
01 XIS 2 S| 5,200 3,000 2,200
ORS A B RIH S| (AD)

2,200,000 *1CH 2,200 0 2,200
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A dets
M =040 & &y
tel: OS2 OSx4d EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
Hots 973,552 969,632 3,920
FRlatel & e 237,4% 234,576 2,920
OISC2 OtSx4 237,4% 234,576 2,920
FUAXIHE 2 60,920 58,000 2,920
405 THHF S 2,920 0 2,920
01 Tt =S F=HI 2,920 0 2,920
o7 700,000 +4CH 2,800 0 2,800
OE7UE 30,0002 =4 H 120 0 120
Y 2ALH|(HOts) 736,056 735,056 1,000
=3l 73,829 72,829 1,000
Jl=23H] 73,829 72,829 1,000
405 THHF S 6,750 5,750 1,000
01 Tt =S F=HI 6,750 5,750 1,000
O=4 otola(=a0] L&
500, 000& 2CH 1,000 0 1,000
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A SES
g F0lyo| & ety
tel: OS2 OSx4d EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
=S 1,656,493 1,643,186 13,307
FRlatel & e 595,728 582,421 13,307
OISC2 OtSx4 595,728 582,421 13,307
SAEE e 185,367 180, 160 5,207
201 fer= 3| 86,717 81,510 5,207
01 AtR2t2l] 83,492 80,010 3,482
OsZJetd 2te| =]
22,0008 *12] 2 22
OFSE A 500,000 13 500 500
OA o™ 2te| Xt S|
240,000 13 240 0 240
OAYNMEY 2
180,000 «8 2 1,440 0 1,440
Ot EE =2
160,000 «8 & 1,280 0 1,280
2 s5=34l 3,225 1,500 1,725
Osd)| RAEs8 140,000 <82 1,120 0 1,120
ovltl ¥xt=z 18,9002 *4CH+8E 605 0 605
FUAXIHE 2 64,100 56,000 8,100
201 LEH2 | 55,100 47,000 8,100
01 At22t2lt] 52,600 44,500 8,100
O&l? FRXXZZ Y At
25,0002 *3H W A *18AI2H+6E 8,100 0 8,100
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H & 0l & AHS B Ml A

0248 =Z 13 s g4 ~ 828
A ES1S
I 0 4o 2 gy
thel: OIS0 Otsxd EER=E)
SA - BB SLA(EH) - HSAY - BES 0fl v o D2
s 1,971,773 1,965,023 6,750
=2 a0 & gy 667,119 666,819 300
OtSCHZ Ot=2x4 667,119 666,819 300
FOITRIMIE 29 63,490 83,190 300
405 RHak S| 1,050 750 300
01 MM =S FSHI 1,050 750 300
OIMHIH 300,000 174 300 0 300
HY2AZH(EL1S) 1,304,654 1,298,204 6,450
(=234l 129,262 122,812 6,450
Jl=23H] 129,262 122,812 6,450
405 KHoHF S| 12,500 6,050 6,450
01 AL =S F SHI 12,500 6,050 6,450
032E At 300, 0002 «20H 6,000 0 6,000
(CRIFSIFIS I 450,000+ 1H 450 0 450




E 0 & A E Al

A

0243 E FZ 13 LBts|H &40 =
TN B%2S
g F0lyo| & ety
tel: OS2 OSx4d EER=E)
SA BB GR(B) - HSAY - BES Ofl 7| H o HnE2
2425 1,688,436 1,678,436 10,000
FRlatel & e 607,509 597,509 10,000
OISC2 OtSx4 607,509 597,509 10,000
FUAXIHE 2 89,800 79,800 10,000
405 THHF S 13,500 3,500 10,000
01 Tt =S F=HI 13,500 3,500 10,000
Ociua g &l 10,000,000 *1CH 10,000 0 10,000




